Penthouse in Zejtun



Zejtun, South



€420,000

Total Rooms: 4

Bathrooms: 1

Reference No: 240271050-29



Floor Area (m²) : 109

Bedrooms: 2

Penthouse - For Sale - Zejtun

ZEJTUN UCA- A selection of 2 Bedrooms and 3 Bedrooms, Maisonettes, and Apartments, starting from €230,000. It is located in a quiet neighborhood and tranquility area. It is being sold finished excluding bathrooms and internal doors. Call agent now for more info or viewings.

Features

Ceramic Floor

En Suite

Terrace

Rooms

- Kitchen/Living/Dining : 7 x 6.5 m (45.5 m2)
- Double Bedroom : 4.5 x 2.8 m (12.6 m2)
- Double Bedroom : 2.8 x 4.2 m (11.76 m2)
- Bathroom : 2.12 x 1.5 m (3.18 m2)
- Open Space : 13.6 x 1.69 m (22.98 m2)
- Open Space : 12 x 1.5 m (18 m2)

















Silvio John Farrugia RE/MAX South - Marsascala

M: 99463313 E: sjfarrugia@remax.com.mt T: 21555000

RE/MAX South - Marsascala 60,Triq is-Salini, Marsascala, Malta